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1.

Ans (¢)

According to the passage- "The upsurge of the
peasants and tribals, the movements for regional
autonomy and self-determination" and "a society
in which a large number of potential contradictions
become articulate and active";

5

Total students = 130
Total students failed = (62 +52)-24=114 -24 =90
Number of students passed finally 130-90 =40

Ans a

Ans (¢)

Let the age of Aravind be x years

Aravind's father's age 4x years

Five years ago, Aravind's father's age was 7 times
age of his son at that

(4x-5)=7(x-5) (given)

4x57x-35

3x=30

x=10

Aravind's father's present age = 4x10 = 40 years

4. Answer: C

Explanation:

We want:

x =1 (mod 2)

x =2 (mod 3)

X =3 (mod 4)

But notice:

1 =-1 (mod 2),
2=-1 (mod 3),
3=-1 (mod 4)
Sox=-1mod LCM(2,3,4)=x=-1 mod 12 —
x=11,23,35,47...

Smallest that satisfies all original congruences
is 23
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3R (c)

A & HIAR- "fHart 3R snfeaial &1 I,
&g WAt SR @R & forg efigia” ok
"I U1 99T for e 91 W ¥ dyifd fatenym
Y 3R fehg g o 8

JR a

| Mathematics |

FABH = 130
P SN B = (62 +52)- 24= 114 - 24 = 90
3id # Il 1 9Tl B BT TBAT 130-90 = 40

3R (c)

A oRfde B emg x a8 ®
Hﬁ?%ﬁ?ﬂﬁmmaﬁ

U9 9¥ Ugd, 3Rfdg & fUdr &1 oy 39 90T Iqdh
A 1 31 Bt 7 A1 Y

(4x-5)=7(x-5) (RATTAT®)

4x57x-35

3x=30

x=10

3RfdE & fUdT BT IAHH 3G = 4x10 = 40 T

3 C
WEIHRT:
TH 916 &

x =1 (mod 2)
x =2 (mod 3)
x =3 (mod 4)

NICERIGES
= -1 (mod 2),

2 =-1(mod 3),
= -1 (mod 4)

@ x = -1 mod LCM(2,3,4) = x = -1 mod 12 > x =
11, 23, 35, 47...

Tad BieT o g4t gt Fafrawarsh o Iqy adr @
8238
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10.

11.

12.

13.

14.

Ans ¢

Ansb

Ansd

Ansa

Ans (b): Let the minimum score = x.
Maximum score = x + 100

x +(x +100) 30 x 42-40 x 28

=>2x +100=1260- 1120 = 140
=>2x=140-100 =40

x =20

Hence, the maximum score = x + 100
=20+100=120

Ans (b)

: Total correct weight
=40 x 60 - 36 +33 =2400 - 3 =2397 kg
Required average weight =2397/60 = 39.95 kg.

Ans (c):
Let the number of 25 p, 10 p and 5 p coins be x,
2x, 3x, respectively.

25x

Then, sum of their values = Rs. {ﬁ

10X2x
100

+

5><3x}_ s 60x

100 ' 100

60x 30x100
—=30ex= =50
100

Hence, the number of 5 p coins: (3 x 50) = 150.

Ans (a)

Directly follows from the statement and so is
implicit. Also, the statement is a suggestion and
does not tell about a government policy or its
position of funds. So, II is not implicit.

Ans (d)
The customer's eagerness to get the bills
makes I implicit. Besides, the customer has
the the
malfunctioning of the department to public

written  to editor to bring

notice. So, II is also implicit.

Ans (¢)
The two statements discuss two separate statistical
and generalised results.
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10.

12.

13.

14.

3 ¢
3R b
3R d
3R a

JW (b): AT FATH TR = x.
SIHAH 3 = x + 100

X + (x + 100) 30 x 42-40 x 28
=> 2x + 100= 1260- 1120 = 140
=>2x=140-100 =40

x =20

3{d:, 3HfHIH 3 = x + 100
=20+ 100 =120

IR (b)

- $d ol qoi

= 40 x 60 - 36 + 33 = 2400 - 3 =2397 fpu
TR 3T ol = 2397/60 = 39.95 B,

. 3R (0):

AT 25 T, 10 O 3R 5 0¥ & Ryaw! &1 =
HHT: x, 2X, 3x %

d, % g™ H1 AWM = 30 ¥W
{25%/100+(10x2x)/100+ (5x3x)/100}= . 60x/100
-60x/100=30¢> x=(30x100)/60=50

3, 5 T & Ryaw! &t W@ (3 % 50) = 150.

3R (a)

FYH I Y IR FRaT 7 IR 39l AR B
T g, HY Ub g9 ¢ 3R T8 fHdt Wy ifa
77 ITF ¢ P UM F IR F 76T Taran 31 SIRAT, 1
GISEEE

IR (d) TP ! f9d U HA t IGDHl | DI
fARRd st 1 39 3rairan, A6 = fAumT Bt @Rre
P! FrAoie FTU F A dH F U Juiehd B
forar g1 gferg, 1 o Ffga g1

3T (c)
GHl HUF T S-S WiRADHIT 3R ARG
gRomAl R =i $vd g
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dotted line, the left part figure will go in TP IR SIS & 3R T JHM SMHfa §91¢ 3R
T OIS | 3T ISR, HIA (3) TE AP 8, 3R I
3) 8l

opposite direction. Please take a transparent
paper and draw a similar figure and fold
it. Thus, figure (3) is the correct figure, and the
answer is (3).

17. Ans a
[LEFGMNHEOQ —J—/Fcnghom]

19. 3TR ¢

——
15. Ans b
)
-
16. 3T ¢

16. Ans ¢ afe; 3 fidleR YT | BT &) & | &70 Aiead B,
If you fold the paper from left to right from I S UET BT A faukia fa=m & Smet puan

[}

c

UE

§

-f

%

I

3

Ho

g

b

b:

0

T

§

18. Ans b “‘

M

[}

4

19. Ansc
20. Ansc
22. 3R d
21. A
e Height R>Q>S>V>T>P
i \"
22. Ansd - Weight S>P>R>Q>T>
23. 3R b
23. Ansb Height R>Q>S>V>T>P
Weight S>P>R>Q>T>V
24. Ans d
24, 3R d
25. Ansc
Height R>Q>S>V>T>P mg 25. 3 ¢
Weight S>P>R>Q>T>V 9
‘ £]26. St a
26. Ans a g
Height R>Q>S>V>T>P - W
Weight S>P>R>Q>T>V § 27 WC
H 0
g
27. Ansc 5
b:
3
‘ 3 {18 Gopal
g = j
£
= [}
16“ JB_GOPN = 5‘ =16+18-1=33

=>16+18-1=33
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28.

29.

30.

31.

32.

Ansc

(c): We can't find the gender of F.

Hence, all 1, II and III together not sufficient to
answer the question

Ans a

Ansd

Let the weight of A is 100 kg.

Then, when B is placed on top of A, weight = 100
+ (60% of 100) = 160 kg.

Now, if B is removed from top, then weight
becomes = 100 kg.

Reduction in weight (160 100)/160 = 60/160
=37.5%

The correct option is D.

Ansa

(a): Narayani's brother and her daughter are in
opposite teams and directly across the net.
Narayani's son and worst player's sibling are in
opposite teams. Since they are diagonally across,
either Narayani's brother or her daughter is the
worst player's sibling. So, the worst player can be
either Narayani or her son. But, son is diagonally
across the worst player's sibling. Thus, Narayani is
the worst player.

This means that Narayani's son and daughter are
on the same side. Narayani and her brother are on
the same side. As the best and the worst player are
on the same side, her brother is the best player.
The correct option is A.

Ansc
Floor Person Colour
8 U Pink
7 Y Gray
6 S Yellow
5 Z Blue
4 T Purple
3 \'% Orange
2 X Green
1 w Red
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28.

29.

30.

31.

32.

31X ¢

B9 F &1 o7 81 o9 oba |

zqfere, It 1, 11 3R 11l TH Y T T IR 4 P
fore gafed 761 §

3R a

IW d

HIT A &1 aoi 100 feaamd g1

=, 919 B I A B HUR W ST &, ol a9 = 100 +
(100 T 60%) = 160 UL 3, Tl B I SHUR ¥ gl
faar S, Y 951 = 100 AT 8 S B, oo | B
(160 100)/160 = 60/160 = 37.5% W& fdded D §.

31X a

(a): TR BT YT 3R T It fausia Haf 7 §
3R WY A & I

IR BT SeT IR T WE fFArS! B Wi
fauda &F & 1 Ifp 3 fe 9 € 39f
IR BT HIS 1 ITP! 9t a8 TR farst &1
g 2| 3o, I TRIE Rars! a1 af ARl a1
IUHT ST B bl B A, VT Jad TRIS fIeme!
F UE F RS I B 39 UPR, TREUN qoR
W el B

TYPT Haad § & AR &7 Je7 3R 3¢t T &
WP &1 TR 3R ITHT YIS T & R g1 I
TEY 3T SR T W f{AE U & R 3,
TIRIT IYBT HIE Fad 3] fQene! g1 et fasvey
ARl

31X ¢

Tifora safad 1
8 U T[arsl!
7Y%

6 S Utar

5 Z tar

4 T ST

3 VAR
2X8

1W ad
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33. Ansd 33. 3k d
Floor Person Colour TR O 397
8 U Pink su W
7 Y Gray - )
6 S Yellow 6 S Ha
5 Z Blue 5 7 ar
4 T Purple 4T T
3 \'% Orange 3 v R
2 X Green
1 w Red 2X B
m 0 1TWdrd
34. Ansa é
Floor Person Colour ‘ i P4 SRa
8 U Pink il TREA
7 Y Gray 5 8 U Tasit
6 S Yellow H ‘;’-_ 7Y%
5 Z Blue 2l esdimm
4 T Purple u £ 5 Z Hter
3 \Y% Orange r?v, 4TS
2 X Green ‘ z 3V AR
1 w Red = é 2X T
o 1waE
35. Ans a SN
36. Ansc - W a
37. Ansc - SWc
Statement I is incorrect as the passage explicitly ST TR AfdR BT 4T
says that "private investment stands depressed —
today". ’
Stateyment 2 is correct as the second line states YT | T § i T WY FY § P © b
present slowing of growth. MECIIRERIEIERCCAR KA
Statement 3 is incorrect as passage in its second . . .
line states that ", the presenl?t slofving of growth, T 2 e § D Gt fe fara et Hl
points to the recent slowdown in demand." So, the EaERInIN]
reasons of present economic change are known. It ' . . .
is the slowI:iown in demand. Thfs, option (c) is %ﬂ; 3 ﬁﬂ%mﬁﬁﬁgﬁg
comect < 3 21 TR, T ofle TR
HRU 1A &1 I A H Hl 31 39 UBR, faswed (o)
S
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38.

39.

40.

41.

Ans (d): The passage explains that those who have
not found happiness from inner-self despite having
material wealth are not rich as they are looking
outside for pleasures, etc. The inference from this
passage thus is that there are many people who
have wealth but are not aware about happiness
from within. Thus option (d) is correct.

Option (a) and (c) cannot be inferences for the
passage as they are not connected to it. Option (b)
also cannot be an inference as nothing is
mentioned in the passage about proportion of
people with wealth.

Ans (c): Option (a) actually represents something
the author opposes through his commentary. So, it
cannot be said to be representative of his views.
Option (d) cannot be strongly and rationally
concluded as the passage is not clear about this.
All security threats and their responses are not
discussed by the author.

Option (b) is not correct as per the facts of the
passage, it contradicts with what the author is
trying to convey.

Option (c) is correct as it reflects the essence of the
passage, where the author states the examples of
the bias and then goes on to state it as a critical
comment in the second paragraph.

Ans (a): The correct statement 1 is mentioned in
the passage. Statement 2 stands incorrect because
the given statement is the of
employability and does not define it.

outcome

Ans (a): The passage states that, businesses around
the world are reporting a skills shortage epidemic
that is hindering the growth prospects of the
nations both. Thus, statement 1 is correct.
Statement 2 stands incorrect because it is not lack
of employment opportunities but lack of skills that
mar the business industry.

Statement 3 is also incorrect because this issue is
not addressed per se in the passage.
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38.

39.

40.

41.

IR (d)
 TRITRT B S T § % Hifde Wual 8§ & Sravig
Fiifes 3 @ B} T H IR P 3R @A 1 T4
TR ¥ 75 Py e § 5 8 9gd ¥ @ §
% U 49 8, AP 3 iR g F IR F
ST | 39 YR fdebed (4) T &

fawed (@) SR () T & forg e T8t 8 wand,
Hifes J 399 e T8 5 | e (@) off Frsend Y &1
T dT, Fiifds TR | 4-d aRN o U & aR §
$B e S T B |

W(c):ﬁm

(a) IRad H PO T a1 & FoepT A (ot
ol & mem I Ry sear 81 39T, 38 IS
Rt o1 ufafAfY 78t we1 o I g1

faped (d) B Tgdl ¥ 3R dhITd U J Fspy T8t
fepTer ST TehdT § i T 39 aR § Wy 61 ]l
@ gRT Ot JRam Warl ok 3@t ufafwarelf ™
T4 61 DI TS ¢ | fAHed (b) TR & T2 F TR
e el &, U8 AWD o §dM B BIRIY PR @ B,
9% fausid g | fased (o) et & i I8 T &
IR P TTAT §, ST&T ARaeh U&UTd & IGTExUT Il
8 3R R g R & 39 ara-Tes fewoft &
U gardr 8|

31X (a)

T # I8} HUT 1 BT Iid fhaT T g1 HY 2
Tad § Hife A T HUT JASIR gl B
oo B 3R 38 uRyiiig ) Hrar 2|

31X (a)

T ¥ w1 T § P, g R % orau e
# P 7 HEE A RO IR R E o T A
3T FHTTST & STeT ST T ¥ 1 39 UPR, HYUT 1
SEE

DY 2 TAd ¢ Filfs T8 ASHIR & AR Bt B!
Tef § afcsp IR BT HH & S HIIE IANT Bl
qHIfId R 81

HY 3 W Tad § Fiifer 39 qe, &I T § G
Tt frar T g
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42.

43.

Ans . (c): Let flats on the floors be 1, 2, 3,4, and 5.
The professor has to go up to meet his IAS officer
friend. So, Professor lives on lower floor than IAS
officer.

Conclusion: P<I

The doctor is equally friendly to all and has to go
up as frequently as go down.

Conclusion: D=3 (--D - -)

The engineer has to go up to meet his MLA friend.
Conclusion: E <M

Above MLA friend, lives the professor's friend.
Conclusion: M < I (Professor's friend is IAS)
Combine all the conclusions:

-DM I

Ans (d): On 1st January, 2004, it was Monday.
Thus, on 31st December, 2003, it was Sunday.
Every normal year and leap year have 1 (i.e.
remainder of 365/7) and 2 (i.e. remainder of 366/7)
Now, 2004 and 2008 are leap years.

So, the number of odd days from 2004 to 2009=
2+1+1+1+2+18

7+1 =1 odd day

Thus, 31st December 27009, it was Monday and on
1st January 2010, it was Tuesday.

44. Answer: B

45.

Explanation:

From 5 min slow to 5 min fast — total gain =
10 min in 24 hours

So it is correct halfway — at 12 hours —
midnight between Mon & Tue

So Answer: A is incorrect

— 12 noon Monday + 12 hrs = 12 midnight

Ansb
Solution: The figure in option (b) represent the
correct water image of figure (A). Upper part

A
' IRAGCE IAS A
55 Rajesh Academy for Civil Examinations

42. FAR: (): AT fp AT IR wie 1, 2, 3, 4 3R 5 B

TIR B 3T IAS ISR o T freq & forw

R T ISl ¢ | 3TRIY, WHIR 1AS ARIBR
J el 7 W BT B
ﬁWﬁf:Pd

Sieex I & Y 9 U I SRAMT TdER

FA & 3R I -t IR =" 9 usdr @
Ia0 & IR SW Ayl 2
fAwd:D=3(--D--)

ZOER BT 3= MLA i3 9 e & fole S

ST USdr gl

ﬁ'@ﬂf: E <M

MLA T2 & SR, MR &1 i @ g
IS E: M < | (TR BT SR IAS )
Tt Frep st o) TaIfTd B

DM

43, IW (d)
1 S, 2004 P HAR 47| 39 THR, 31 feR,
2003 & IqAR AT
R IMRT 98 3R g 9% 1 @ 365/7 BT W)
3R 2 @ 366/7 1 AW) GrAT S
319, 2004 3R 2008 oy a9 &1
3d: 2004 ¥ 2009 d® fowH foi &7 d=m
2+1+1+1+2+18
7+1 = 1 fawq feq

Y UBR, 31 AR 2009 BT THIR YT 3R 1 Fa<t

2010 &I HITAAR YT

. 3Tk B
WFTHRT:
5 fre €l @ 5 e a9 > P d1H = 24 9 H 10
foe

0 T8 MY T H TG ® > 12 T W > JHIAR 3R

TR & & 3meft 3
I ATAT®

- IR BT UG 12 991 + 12 G = 3MMeh Id 12

will go down in opposite direction in water o = 3T B
image.
. Ansb
AT e (b) & & 1S o Sepfa (A) B W
wa yfafer et 81 w@ fafer § Sud o
faoia fe=m # < e
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46.

47.

48.

Ans (c): Option (a) is not correct. There is no such
comparison being made. Moreover, both seem
important.

Option (b) cannot be strongly and rationally
concluded as the passage is not clear about this.
Knowing yourself'is a critical criteria too.

Option (d) is not correct as the usage of the word
"only" deviates the meaning and intent of the
statement which predicts victory whenever if one
knows the enemy and know himself, victory will
be his.

Option (c) is correct as it reflects the message of
the passage, where author states that "If you know
neither the enemy nor yourself, you will succumb
in every battle."

Ans . (c):

Option a is not correct as it fails to address the
second part of the given statement. Moreover, both
seem important part of the strategy.

Option b cannot be a logical justification as
statement is clearly says that "then waited for an
opportunity of defeating."

Option ¢ is correct as it supports the message of
the passage, where good fighters of old first put
themselves beyond the possibility of defeat as to
secure against defeat lies in their own hands and
waited for an opportunity of defeating the enemy
as the opportunity of defeating the enemy is
provided by the enemy himself.

Ans (b):

The passage discusses how elderly women face
discrimination due to lack of control of family
resources. Thus, the keynote here is that they
should be equally treated in matters of family
resources. Thus, Option (b) is the correct answer.
Option (a) is incorrect because the passage is not
discussing who should head the family and how.
This statement may be an inference but certainly
not the keynote or theme of the passage.

Option (c) is incorrect because here property rights
are not made conditional to the death of the
husbands. Option (d) is incorrect because here the
issue is not the longevity of men but of the
conditions of women.
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46.

47.

48.

31X (0):

fdshed (a) TeT 8T &1 T PIg g1 81 B Sff @
T 3UP AT, T Hgayul Uefid 81 & |

fawed (b) B Tgdad R THId 9 F Fme
e FrepTer ST YebaT i e 39 aR § Wy e
81 9gg & o= W U Heaquf AFEs g |

ey (d) TE 7S § TP "Paa Teq &I ITANT
YT & 3 3R WIS P! Yedbldl g S Sid Bt
Higwraroft Far § 5 off BIE gRAA B T § SR
YE B ST 8, @ oitd ST gt

e () TE ¥ e T8 T & WU &Y gifar
2, STel Ag® dedl § & afe oMy 7 o g B
OFd § R T & e B, @ 30U &R S H 8R
ST

3R, (c):

fawed 2 TEt €l § % g8 RU T &9 & g
YAT I FEIfd R H A gdT 81 39 (e,
31 RO T Agayut 3w udid 81 g

faded b AfSb® S 8T B TPhal Hifeh B
WY ¥ ¥ FEdl ¢ b "R Wd & & 3fawR
@ Uche Fi

AP c 8 § Hifes I TR & Ho HT FHdA
Rl 8, S5 IR THY P 3 TSTh Ugd Te Pl
BR P FHIGT ¥ TR 7@ U P gR ¥ TR g
I 3T BT A 7 3R G B 6 P AR B
T&T Fxd & R GRAT DI G BT AR WGg
3 8 UeH IR g

3R (b):

9 T # 99 B TS § {5 B9 gopt afgenst &
IR TFGTeHT IR a0 St w4t & SR AeHE
BT FHAT BT TSl & | 39 UHR, TgT 527 a1 I8 ©
o uikaiRe d9meq! & Amal § 396 9 9qE
FaeR fHa1 9T =T1fgul 39 TR, faden (b) I8t
IR

fdped (a) TToId § i TN 39 S WR == 61
IR T § 5 uRkar &1 gfaar 19 g9 =ity 8k
FY| Ig HY TP SFIAF g1 Tl § AT Ffda
Y Y T b1 e fig an fawa At R

Ay () TaId g Fife ugl Tufy & SR &Y ufd
B TG BT T IR ST S T 8| Ahed (d) TTad &
Fifes g1 gel goul &t dlafy 8 afcs afgansit ot
R o171
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49.

50.

51.

Ans (a):

The passage tells that the benefits of rapid growth
of India have been shared unequally by various
sections. Middle classes have benefitted more than
expected, but underprivileged sections lives have
not improved much. Thus, (a) is the correct
answer.

Option (b) cannot be drawn from the passage.
Middle classes have benefitted from the growth
but did not bring it. Option (c) is also incorrect.
The poor conditions of underprivileged sections
are not because of growth but unequal distribution
of the benefits of this growth. Option (d) is
incorrect because according to the passage, India
has achieved rapid economic growth in recent
decades and living standards of middle class
improved by unprecedented level.

Ans (a): Employees above the age of 30 = 60%
Number of statistics graduates = 100 (50+25) =
25%.

All of the statistics graduates are above the age of
30.

Similarly, employees below the age of 30 = 40%
25% of the employees are economic graduates and
all the economic graduates are below the age of
30.

Statistics 25%

Economics 25%

Above the age of 30

60%

Below the age of 30

40%

Hence, the percentage of employees who are
commerce graduates below the age of 30 =40 - 25
=15%.

And percentage of employees who are commerce
graduates and above the age of 30 = 60 — 25 =
35%.

Ans (¢):

In this series, first divide by 2 to get the second
term and multiply it by 3 to get the 3rd term. So, if
we do this, we get 162 in the place of question
mark.

A
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O
e

31X (a):

3 gaTaT § f yRa & g fawrg &1 ary fafte et
ERT 39 ¥U ¥ 1= fear mr 1 7egH o ol
Irdte I 3ifere T g3 §, Afch dferd ot & oftad
% 9gd GUR eI g3 81 T UBR, (a) T ISR &

3§ Rypey (b) TET FopTall S YeparT §1 HeOH ol
@ faeT q T g3 ], A 3 38 el Al e
© off 7o g1 dfea ot @t wRe fufa e &
PRI 6! Sich 39 [AHN & ATl & A faaror
¥ BRI g1 fawed (d) Tad § Fife 3 F SR,
YRd 7 8@ & @ # g onffe fawm g1
fohar & SR Tegd o7 & Sfia TR F 3ydqd TR d®
YUR g3 2|

3T (a):

30 9N § 3 S & HHAR = 60%
iRSHe! FTAP| B WA = 100 (50+25) = 25%.

Tt wifeTe! |rae 30 99 ¥ 31w 31 & 7

U UBR, 30 IY Y HH A F HHAR = 40%
UGl T 9 25% oRfRRd Aad § R Wit
SRR AT 30 T W HH AT F & 1

ifeHeT 25%

3R 25%

30 9N § 3ifere 3ig

60%

30 9N § FHH 3G

40%

2oy, 30 I8V FHH TG F IO Hddh HHATRT
D1 Y= = 40 - 25 = 15%|

3R 30 oY I 3w 1Y &F AMOST HIdH HHARTT
D1 Yf=Id = 60 - 25 = 35%|

. 3 (0):

T 41 H, Ugd GIRT UG U HRA & g 2 F YT
¢ SR T Ug U F-A & oY 39 3/ O HR
Tl fe A TH &vd 8, I 89 Uy g /M W
162 f@ar g1
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52.

53.

54.

55.

56.

57.

58.

59.

Ans (a): Double each figure and add 1, 2, 3 4 and
so on.

4x2+1=9

9x2+2=20

20x2+3=43

43x2+4=90

90 x 2+8= 485

185 x 2+6=376

Ans (d): Clearly, the situation demands making the
education system more flexible and changing it
periodically according to the needs of the time. So,
both the courses follow.

Ans (d): Clearly, the problem demands taking
extra care and adequate precautions to protect
crops from insects and extending help to farmers
to prevent them from incurring huge losses. Thus,
both the courses follow.

Ans (a): Farmers cannot be asked to do so. And to
reduce inflation, course of action I should be a
good step.

Only I course of action follows.

Ans . (d): Since anytime, there can be a danger
along the coastline, people should be advised not
to build their homes along coastline, and officials
should also be sent to see the damages.

Ans (b): The Commissioner only cites examples of
cities X and Y and undertakes to beautify city Z.
This does not imply that he has worked in cities X
and Y. So, I does not follow. Also, nothing about
people's response to the state of the city can be
deduced from the statement. Thus, II also does not
follow.

Ans c

Ansd

52. TR (a): TP TP DY ST B 3R 1, 2, 3 4 3R

T RE S|

4x2+1=9

Ix2+2=20

20x2 + 3 =43

43x2+4=90

90 x 2+8= 485

185 x 2+6=376

53, IR (d)
Wy U ¥, R Rem yomelt & iR ifiw
AT I TUT TG B HTADHATS & AR
TIG-JHT R 398 URadd $Ra Bt JiTT Bl gl
31, ST AR T O

54, I (d)
WY ¥ I, JHY Bl I dlel 9§ gI- & forw
fafted WU iR Taf graurt sRad 3R
et &1 U JHaH q s9H & AU IT@! Heg
B B HITT B &1 3F UBR, aHl d¥1P 3TAT
ik

' IRACE IAS A
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55. 3R (a):
g & T FA & o 761 w1 o a1l #iR
TERBId B HH TR & Y, HRIAR | Th ST
HeH g dligul
HId PIRIATE! | TR0 PR 2|

56. ITR. (d): TP T de R Ht +ft W1 8 Il B,
ey AT Y TaTg < o ARt fb @ Wg d¢ &
fFR ST TR 7 9, IR THIH &I 8- & forg
SfferepTRET @Y ot ot s TR

57. IR (b)
3T Had TER X 3R Y F IR0 ¢ & 3R TR
Z B &R 9 &1 18T Il § | SHT Haad T8
T 8 f5 I8 e x ok v & &1 foa g1 s9ferg,
| 3FIERYT -6} BT 31 1Y g, R B U F IR A
ATl B1 ufafehar & IR H HUF J $o off 781 FApren
S a1 8 | 39 UBR, 11 Ht S78R0r 78t &l ]

58. 3Tk ¢
59. 3R d
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60.

61.

62.

63.

Ansd

History is on Tuesday. Economics is on Thursday
because Maths has to be immediately after that
(Friday) and English immediately before
Economic (Wednesday). Remaining,
subject is on Monday.

Monday / Statistics

Tuesday / History

Wednesday / English

Thursday / Economics

Friday / Mathematics

Statistics

Ansc

History is on Tuesday. Economics is on Thursday
because Maths has to be immediately after that
(Friday) and English immediately before
Economic (Wednesday). Remaining,
subject is on Monday.

Monday / Statistics

Tuesday / History

Wednesday / English

Thursday / Economics

Friday / Mathematics

Statistics

Ansc

History is on Tuesday. Economics is on Thursday
because Maths has to be immediately after that
(Friday) and English immediately before
Economic (Wednesday). Remaining,
subject is on Monday.

Monday / Statistics

Tuesday / History

Wednesday / English

Thursday / Economics

Friday / Mathematics

Statistics

Ans c

History is on Tuesday. Economics is on Thursday
because Maths has to be immediately after that
(Friday) and English immediately Dbefore
Economic (Wednesday). Remaining, Statistics
subject is on Monday.

Monday / Statistics

Tuesday / History

Wednesday / English

Thursday / Economics

Friday / Mathematics

' IRAGCGE IAS A
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60.

(o
—

(o))
[\

63.

IR d
e WAaR &) 81 SrfuRd AR &1 § Fife
T P R d1e (YHaAR) AR ST srfemd &
3% Usd QUAR) B! dIfeUl R, Hifege fawg
THIR B B

AR / Tt

HAR / 3fdgr™

FUIR / 3fTSh

THAR / IR

hAR / TIIOrd

. 3R c

3fIgr HeER &) 81 3fIRd RaR &) § [ife
T ISP R dTe (YHaAR) AR S srfemd §
3% Ugd (QUAR) B dedl R, AR fawa
THIR BT B

AHaR / gkt

HIAR / 3fde™

FUIR / TSl

AR / SIRRA

hAR / TIIOrd

. 3R c

3R HTeaR &1 81 SifYRe PaR @ § Fifh
T P R d1e (YHaAR) AR ST srfemd
3% Ugd (QUAR) B dmedl }, AR fawa
AR B B

AR / ikt

HAR / 3fagr™

YR / St

AR / SURRA

hAR / TIIOrd

3R ¢

3faer HeaR &) g1 3fYRd PaR &) § [ifp
T P R a1e (YHaAR) AR S rfemd §
3% Ugd (QUAR) B deul X, AR fawa
THIR B B

AR / ikt

AR / 3fdgr™

FYAR / TSl

AR / 3furd

YhdR / IO

CSAT
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64.

65.

66.

67.

Ansa

History is on Tuesday. Economics is on Thursday
because Maths has to be immediately after that
(Friday) and English immediately before
Economic (Wednesday). Remaining, Statistics
subject is on Monday.

Monday / Statistics

Tuesday / History

Wednesday / English

Thursday / Economics

Friday / Mathematics

Ansd

Geeta is older than her cousin Meena. G > M
Meena's brother Bipin is older than Geeta. B>G
Combining two statements, B > G> M. Meena is
the youngest of the three.

Ans (c): Acceptance of a candidate by political
parties:

A-W, X

B-Y,W,Z

C-W,Y, X, Z

D-W, X

So, C was acceptable to all the parties.

Ans c

From II: P is father in law of R

'_1~|f 'n(1>'!‘
(]

T | u |
[Py et ) |
[rey]

64. 3TR a

AR B 2
IR / Fifeaes!
TSaR / Sfagr™
FUIR / 3fTSh
AR / e
ehAR / IO

IR d
T 3ot TRt SR HT A TS 81 G > M
1 %1 WiE T fiar ¥ seTR1 B>G

65.

B g

66.
A-W, X
B-Y, W, Z
C-W, Y, X Z
D-W, X

zafae, ¢ guft <ol &t Wierd i
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67. TR ¢

68. ST b Y- P,RBIHTATR B AT B

' IRACE IAS A
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e WaaR &) 81 SifRd AR &1 § Hifd
T P R d1e (YHaAR) AR ST srfemd &
dl% Tgd @YAR) g afeul v, wiks! fawg

2 HYA B AT, B > G> M. WA Al H g

JTR (¢): WSIfcrep ell gRT SHIGIR b1 Wi
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69.

70.

71.

72.

73.

74.

75.

Ansa
a
[P} o
Ans . (b): Total 37 persons sitting in a row.

Ans (c): Sentence B is wrong because you don't
plead "guilty of" but plead "guilty to" a crime.
Sentence D is wrong because one gets "sentenced
to" prison.

Ans (a): The first sentence says that scientific
knowledge can be approached from a number of
perspectives. Studying something from the
perspective of a particular profession would lead
to institutionalisation of that knowledge. Though it
helps, it restricts knowledge production to a
domain of few, which results in power centred in
the hands of few, preventing the non-professional
actors from offering their ideas.

The above simplification helps us arrive at option
a as the right choice. Options ¢ and d are against
the author's stand in the passage. Option b is not
the core message, but an inference that can be
derived from the above passage.

Correct Answer: (b)

Explanation:

The passage argues that myths were not just
stories but symbolic systems of meaning that
helped ancient interpret reality. It
contrasts this with modern rationality’s tendency
to overlook their deeper role. (a) is too negative,
(c) is implied but not central, and (d) misrepresents
the passage’s respectful tone toward myth.

societies

Ans (d): In the passage, the writer has compared
various organic similarities between man and other
animals.

Ans (a)
The region (6) represents, the people who are
intelligent, honest, truthful, but not hard-working.

A
' IRAGCE IAS A
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. 3R a
. SR (b): U UfRT & P 37 AR 93 B
. S (¢): I B AT §, i 3T " g Hi

Tohd et &d, sfcp "3y & fofw S g &
ERISEGE

IIHI D TTAd ©, Hife afad P "Sid 1 Joir e
gl

. IR (a): TS TR FEdl ¢ P I I DI Bg

=BT ¥ W S T 31 et v 9 F
RH F frdt AT F7 sremEE FRA J I I BT
YRATAHOT gIMT| Ty 98 gad 8, T8 qH
JAET B O AN P AR d Gifd B Al B,
g TRUMTER=T 1 $© T & grdl H Higd g
ot 8, o R-0RaR T o faeR vRdd
IR dfed 81 9 B

STYH TRAPRUT 51 Tel [dbed & = H fddhed T
IR Uga- B Aeg Hrdl ol fawey It ok 3t aus &
T F v & [9og 81 fAeey o qu gow T g,
S T e ® o SmRYad e & v fapar s
Thar gl

. @I I (b)

TPIHI:

31 7 b faar man B fob e baa wei-ar 76l off
g 3 ot udfiwras yonfermt off S urh= THTS
P! IRAfIHdT Pt TRAT HIA § Hag ddl Al T8
AYFIP THUTAA B ITBT TEd YHbT B
TORSIETS B3 B UgRT P 1Y SHDH! o1 Rl g
(a) 98d TPRIAS B, () FIRRd & A a7 g,
3R (d) e & ufq Anf & TS T8 &
Td 1P & UK BRaT B |

. W (d): TN H, AWH A A 3R 3 THRT &

o faftrs S gumdrel &) ga- @1 81

. 31X (a)

& (6) 31 AN BT g1 § W IFSHAM, SHFER, T
&, AfopT Bgrelt e &1
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76. Ans a 76. 3R a
A 77. $W ¢
EIESEN (0): ">" 3R SIcH PT TN T Bt IHH dH-1D
-~ %1 ITAT B | S1: A>. B.
| S S2: C>...A>...B..
77. Ans c
(c): Use the same technique of using ">" and dots. &1 S3: D>..>C>..A>..B...
S1: A>. B..

SIS S4: E>D>C>A>B
Adding S2: C>...A>...B.. ; oA

Adding S3: D>...>C>...A>..B... IR C T R R ST
Adding S4: E>D>C>A>B
Answer is C will occupy the middle position.
78. SR b
78. Ans b A<+=>C

A 4+>»C I

I F < D
F < D I

I E «—»

E «——»
This is the arrangement. Each arrow represents 1
Km of distance. So, A, D and E are in a line.

I8 e 1 Ude IR 1 e # gt quiar B
3T, A, D 3R E U&h Ufdd H B

' IRACE IAS A
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79. Ans (b): First sentence, this can be the possibility -

79. 3R (b): Ugdl dId, WHW@W% - AB II
AB or BA, but not CAB or BAC BA, ©ifdT CAB TT BAC &}
Second sentence,-€ED or-BE€ is not possible. So, C E¥RT 91, CD IT DC Ha el 2 zofm cHBF
h'a;tob:ncextt(sz:AananexttoA. It can be d Wﬁﬁ?DHﬁA%Wﬁ%ﬁmmlﬂngﬁ
either DABC, or CBAD DABC T CBAD &l bl &
80. Ansc
80. 3dX ¢
(']
c
0
T
£
-§
¥
B
H 0
g
b
ﬂ :
[')
T
‘ g
q
£
']
= S
1]
[
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